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01.

02.

03.

04,

0s5.

06.

Which of the following is not synthesized in postganglionic
sympatheticc neuron ?

(1) L-DOPA (2} Dopamine
(3} Norepinephrine (4) Epinnephrine

Which of the following drug is a tranquilizer ?
(1) LSD {2) Atropine

(3} Lithium (4) Chlorpromazine

Hystercctomy is the removal of ?
{1) Kindly (2) Uterus
(3) Ovary {4) Testis

Which of the following is not essential for normal biosynthesis of
thyroid hormeone :

(1) lodine (2) ferritin
{3) Thyroglobulin (4) TSH

Sclect the best statement for Lymphoytes :

(1) are unaffected by hormones

(2) all originate from the bone marrow

(3) are part of the body's defense against cancer

(4) convert to monocytes in response (o antigense

Basic principle invelved in the doctors thermometer {mercury
thermometer) 1s :

(1) Thermal expansion of liquid

(2) Thermal expansion of gas above the liquid in the thermometer
(3)  Capillary action

(1}  None pf the above
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07. The compound which serves as antioxtdant in living systems and plays

a key role in detoxification is :
(1} glutathione {(2) glutamate

(3) proline (4) tetrahydrofolate

08. Which of the following vitamins regulates Ca?* metabolism ?
(1) Vitamin A (2) Thiamine
(3] Ascorbic acid (4) Vitamin D

09. An example of antioxidant enzyme 1s :
(1) Superoxide dismutase
(2) Choline oxidase
(3) Phenylalanine ammonia lyase

(4) Alcohol dehydrogenase

10. The organ of the body mainly damaged in hepatitis is :
(1) Heart (2) Liver
(3) Kidney (4) Eye

11. Which one of the following initiates the cardiac pacemaker potential ?
(1) Ca% current at L type of channels
(2) K" current

(3) Voltage gated Na* current

{(4) Hyperpolarization- activatd cyclic nucleotide-gated current

5 P.T.O.
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12.

13.

14.

15.

16.

In an individual resting O, consumption is 1.5L/min and blood O,
content of arterial and venous is 185 ml/L and 135 ml/L, respectively.
llence his cardiac output is.

(1) 15.0 L/min (2) 30.0 L/min
(3) 60.0 L/min {4y 12.5 I./min

Which one of the following primarily regulates blood volume ?

(1) Right ventricular chemoreceptors

(2) Arterial baroreceptors

{3) Atrial receptors

{4} central chemoreceptors

Young woman suspected of hypothyroidism was having BMR 20 Kcal/
m?/ hour and her cardiac output was 3.5 L/min. She was having low

TSH level and on administration of TRH her TSH level increased
considerably. In this case of hypothyroidism may have resulted from.

(1) Autoimmune destruction of the thyroid tissue.

(2] Malfunctioning of the hypothalamus.

(3} Malfunctioning of the pituitary gland.

(4) Pituitary TSH suppression by hyperactive thyroid nodule.

All of the following can occur in adrenocortical insufficiency EXCEPT :
(1) Failure to excrete water load

(2) Decreased glucose uptake by adipocytes

(3) Increascd bone resorption

(4) increased protein catabolism

All of the following increase the ADH secretion EXCEPT :

(1) [n conditions of acute blood loss {around 15-20% of blood volume)
(2) Decreased haroreceptor activity

(3) After consuming a hter of water

(4] Decreased venous return
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17.

18.

19.

20.

21.

All of the following are correctly paired EXCEPT :

(1] Stomach- a major site of iron absorption

(2] Ileum- a major site for bile absorption

{3) Jejunum- an active site of fat absorption & digestion

(4) Colon- a major site restricted of H,O and electrolyte absorption

All of the following increase the secretion of gastric pepsin secretion
EXCEPT:

(1} Vagal stimulation (2) Hypoglycemia
(3) Histamine (4} Insulin

When Plasma glucose concentration equals to renal threshold then
the glucose clearance value would be ?

(1) Equal to inulin clearance
(2) 50% of cratinine clearance
(3) Very close to 100 ml/min
(4) less then 1 ml/min

The transport characteristics of the cells of loop of Henle include all of
the following EXCEPT :

(1) Na®is actively transported greatly in the thick ascending limb of
loop of Henle than the thin ascending limb.

{2) Permeability to urea is near zero in the thin ascending limb.

(3) Active transport is insignificant in the thin ascending or
descending limbs of loop of Henle.

(4] Permeability to urea is greater in the thin ascending limb than
the thick ascending limb

Which one of the following renal vascular bed has greater colloid
osmotic pressure ?

(1) Renal Vein (2) Efferent arterioles
(3) Afferent arterioles (4) Renal artery

4 P.T.0.
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22.

23.

24.

25.

26.

Which one of the following statements i1s NOT true for withdrawal
reflex evoked by cutaneous nerve stimulation ?

(1) Reciprocal contraction of contralateral extensors
(2) Reciprocal inhibition of ipsilateral extensors

(3) Involve group II primary afferents

(4) Produce after- discharges

Which one of the following is true about cerebellar connections ?
(1) Mossy fibers originate from deep cerebellar nucleus

(2} Purkinje cells project on to basket cells

(3} Climbing fibers originate {rom inferior olivary nucleus

{4) Granule ceils receive climbing fiber input

Few weeks following a spinal cord injury (hemisection of the left side
at T-12 level) the patient may have all of the following EXCEPT ?

(1} Loss of touch and pressure sense in the left leg.
(2) Exaggerated knee jerk on the left side.

(3) Loss of temperature sense in the right leg

{4) Loss of pain sensation in the left leg

Regarding Na'-K* ATPase, which one of the following is in the
extracellular domain ?

(1) Na'binding site

(2) ATP binding site

(3) K binding site

(4) Phosphorylation site

Which of the following is NOT involving the cvtosolic receptors to bring
the action ?

(1) Thyroxine (2) Rctinoic acid

(31 Estrogen (47 Insulin
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27.

28.

29.

30.

31.

Which of the following marker substance is used to determine
extracellular fluid volume ?

(1) Heavy water

(2} Radioisotopes of Sodium
(3) I3 labeled albumin

(4) Evans blue (T 1824)

Which one of the following is NOT true for hemolytic anemia ?
(1) Reticulocytosis

(2) Decreased hematocrit

(3) Decreased serum lactic dehydrogenase (LDH) activity

(4) Presence of indirect hyperbilirubinemia

Each of the following condition is associated with clotting disorders
EXCEPT :

(1) Christmas disease (2) Sickle cell anemia

{3) Hemophilia A (4) Thrombocytopenic purpura

Which one of the following cells produce antibody during immune
response ?

(1) Helper T cell (2} Plasma cell
(3} Cytotoxic T cell (4) Monocyte

Marked increase in pulmonary interstitial fluid volume activates :
(1) Lung irritant receptors

(2) Juxta-pulmonary capillary receptors

(3) Pulmonary inflation receptors

(4) Pulmonary deflation receptors

9 P.T.O.
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32.

33.

The maximum quantity of CO, in the blood is transported :
(1} In dissolved form (2) As carbamino hemoglobin

13)  As caboxy hemoglobin. (4} In the form of bicarbonate

All of the following are true regarding Hering-Breuer deflation reflex
EXCEPT :

(1) Inactive during normal breathing
(2) Inhibits inspiration
(3) Mediated by m}.felinated vagal afferents

{4} Associated with mechanical receptors

34. All arc true regarding changes in pulmonary circulation during exercise

3S.

36.

EXCEPT :

(1) Recruitment of more capillaries

(2] Increased blood flow through apex of lung
{3) Increase in capillary transit time

(4) Increase in pulmonary arterial pressure

Hormone that reduces possible immuno rejection of fetus is
(1) Progesterone

(2) Human placental lactogen

(3) Human chorionic gonadotrophin

{4y Human chrionic somatotropin

IKlevated plasma inhibin mhibits ¢
(1) LH sccretion (2) FSH secretion

(3)  GnRH sccretion (4) Estrogen secretion

10
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37. The function of tropomyosin in skeletal muscle is to :

(1)
(2)
(3)
(4)

Slide actin filaments to produce to shortenting
Release calcium after initiation of contraction
Cover the active sites of actin during relaxation

Bind to myosin during contraction

38. All of the following are true for fast (type 1) skeletal muscles EXCEPT -

(1)
(2)
(3)
(4)

Contain greater glycolytic enzymes
Greater ability of Ca* pump
Larger diameter

Higher oxidative capacity

39. All of the following statements regarding endocochlear potential are

true EXCEPT :

(1) It 1is around 85mV positive to perilymph

(2) It is due to high concentration of K* in endolymph
(3) It is produced in response to sound

(4) It is required for the excitability of cochlear hair cells

40. What type of visual ioss is seen in a patient with pituitary adenoma ?

(1)
(2)
(3)
(4)

Binasal hemianopia
Homonymous hemianopia
Multiple scotomas

Bitemporal hemianopia

11 _ | P.T.O.
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Short Answer Questions

Note: Attempt any five questions. Atleast one question from each section

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

A, B & C. Write answer in 150-200 words. Each question carries 16
marks. Answer cach guestion on separate page, after writing Ques-
tion Number,

(A} Draw a diagram of any one (1) of the following
Nerve action potential along with ion conductance’s producing it.
Diagram showing the cerebellar circuitry.
(B) Give physiological explanations for the following : (any 2)

Patient with common bile duct obstruction complains of generalized
itching sensation.

Onset of parturition is delayed in anencephalic baby.
Cretinism is associated with mental retardation.
Tachycardia is seen in reversible hemorrhagic shock.

(C) Give physiological differences between the following (any 2)
Slow wave sleep and fast wave sleep.
Obligatory absorption of water and facultative absorption of water,
Optc tract lesions and optic radiation lesions.

Intrinsie factor and Extrinsic factor.

12
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Question No. Page for Short Answer
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